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Question Number : 1 Question Id : 2839369881 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Bara Imambara in Lucknow has how many identical doors

Options :

1 v 489

5 4 483

. W

Question Number : 2 Question Id : 2839369882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The French brought with them the notion of
Options :

1 Rural Planning

5 4 City Planning



3. « Urban city Planning

4 5 Development

Question Number : 3 Question Id : 2839369883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The height of the Lord Buddha’s statue in Rajgir is

Options :

1.« 70 feet

5 4 80 feet

3 % 50 feet

4. % 19 feet

Question Number : 4 Question Id : 2839369884 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The Statue of Unity in India was designed by

Options :

1.« Ram V. Sutar

5, Ram Kinkar Baij



3 Mandan Lal

4. Nagji Patel

Question Number : 5 Question Id : 2839369885 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

India Gate was inaugurated on

Options :

1 « 12" Feburary 1931

5 5 26" January 1931

3 4 15" July 1931

4w 15" August 193]

Question Number : 6 Question Id : 2839369886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Rovyal Opera House in Mumbai was completed in the year

Options :

| . 1915



5, » 1916

5 1918

4 4 1917

Question Number : 7 Question Id : 2839369887 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Gateway of India Arch structure is an adaptation of
Options :

1 s Arc de Triomphe, Sizan

5> « Arc de Triomphe, Paris

3 5 Porte de Paris, Lille

4 % Porte De Paris, Nevers

Question Number : 8 Question Id : 2839369888 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The main block of Supreme Court building was designed by architect

Options:

1. = B.V Doshi



2w Hafeez Contractor

3 Ganesh Bhikaji Dealalikar

4. » Vasanth Kamath

Question Number : 9 Question Id : 2839369889 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Portuguese built Basilica of Bom Jesus in Goa was opened in the year

Options :

1 % 1610

4.+ 1605

Question Number : 10 Question Id : 2839369890 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which dynasty gave India its famous temples of Khajuraho

Options :

1.



« Chandelas

2. % Holkars

3. % Paramara

4 5 Mauryas

Question Number : 11 Question Id : 2839369891 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the following historical places
[. Ajanta caves
[I. Lepakshi Temple
[T1. Sanchi Stupa
Which of the above places are also known for mural paintings?

Options :
1.« 1 & IT only
5 5 & Il only

3 & 1 & Il only

4 L&

Question Number : 12 Question Id : 2839369892 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not a world heritage site

Options :

1.« Mandu fort

2. % Bhimbetka Rock Shelters

3. 5 Khajuraho temples

4. 5 Sanchi Stupa

Question Number : 13 Question Id : 2839369893 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The art of Ajanta was mainly patronised by the
Options :

1 Gangas

2. % Pallavas

3. 5 Chalukyas

4. + Vakatakas

Question Number : 14 Question Id : 2839369894 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following temples 1s an example of rock-cut Architecture

Options :

1 » Jagannatha Temple, Puri

>  Rajarajeshwara Temple, Thanjavur

3. 4 Shore Temple, Mamallapuram

4« Kailsa Temple, Ellore

Question Number : 15 Question Id : 2839369895 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Temple of Bhubaneswar and Puri were built in
Options:

1 4 Dravidan Style

5 « Nagara Style

3. 5 DBesara Style

4. s Dravidian and Besara style



Question Number : 16 Question Id : 2839369896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which American Architect has been called the Father of Skyscrapers and Father of Modernism.

Options :

1 Frank Lloyd Wright

2.« Louis Sullivan

3. 5 Frank Gehry

4. w Albert Einstein

Question Number : 17 Question Id : 2839369897 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Architectural terms describes the interior curve of an arch
Options :

1.+ Intrados

2. % Balconet

3. Extrados

4. % Balustrade



Question Number : 18 Question Id : 2839369898 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The height of tallest building in the world Bur) Khalifa is

Options :

1. % 2700 feet

5w 2922 feet

3. % 2900 feet

4.« 2722 feet

Question Number : 19 Question Id : 2839369899 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following cities 1s home to the Gateway Arch
Options:

1. & Chicago

2. % Miami

3.« St. Louis

4. % Dallas



Question Number : 20 Question Id : 2839369900 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The innovation blueprint process was first introduced in the year

Options :

1« 1845

3.« 1842

Question Number : 21 Question Id : 2839369901 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which architectural style 1s reflected in Paris Notre Dame cathedral
Options:

1.« Gothic

2. » Renaissance

3 4 Byzantine

4 5 Romaneque



Question Number : 22 Question Id : 2839369902 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which country did the academic Architectural Style “Beaux-Arts” originate
Options :

1 » Belgium

2. % Sweden

3. « France

4. % Finland

Question Number : 23 Question Id : 2839369903 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which philosophy, created by Frank Lloyd Wright himself was the driving force behind

his innovative designs
Options :

1. » Envirotecture

2. % Natural Architecture

3.« Organic Architecture

4. » Rock Architecture



Question Number : 24 Question Id : 2839369904 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following features best characterize Romanesque Architecture?
Options :

1 High Windows

2.« Semi-circular Arches

3. & High printed peaks

4 5 Elaborate square vaults

Question Number : 25 Question Id : 2839369905 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The top most part of a column is called
Options :

1. % Shaft

2. » Base

3. % Plinth

4« Capital



Question Number : 26 Question Id : 2839369906 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Free Trade and Warehousing Zone (FTWZ) requires a minimum land of

Options :

1. % 60 Hectares

2. & 90 Hectares

3.« 40 Hectares

4. & 50 Hectares

Question Number : 27 Question Id : 2839369907 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not a benchmark for environmental performance assessment

Options:

1« LEED

> « BEAM

3. « GB Tools



« (ini co-efficient

Question Number : 28 Question Id : 2839369908 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per NBC 2005 for factories, requirement of air changes per hour in enclosed areas is

Options:

1. % 3-5

2. % 6-8

3. % 6-10

4.+ 8-10

Question Number : 29 Question Id : 2839369909 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s not an example of a linear city

Options :
1. % Madrid

2. % Navi Mumbai

3 4 Quito



4. + Moscow

Question Number : 30 Question Id : 2839369910 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Light sources within the field of vision is called

Options :

1.« Direct glare

> 4 Reflected glare

3  Vveiling glare

4. » Glare

Question Number : 31 Question Id : 2839369911 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Towns and cities with trade and commerce speciality are called

Options :

1. = Administrative

5w Mining



3. % Industrial

4. + Commercial

Question Number : 32 Question Id : 2839369912 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Bharat Nirman, a time bound plan for rural infrastructure by the Government of India
in partnership with state governments and Panchayat Raj Institutions was launched 1n
the year

Options:

1 % 2003

3.+ 2005

4 % 2001

Question Number : 33 Question Id : 2839369913 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 1s not a Public Good?

Options:

1.« Electricity



2. % National Defence

3. s Light House

4. % Public Parks

Question Number : 34 Question Id : 2839369914 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Bharatmala Pariyojana is associated with

Options :

1« Highways

5 4 Railways

3. ¢ Telecom

4. w Ports

Question Number : 35 Question Id : 2839369915 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The green rating system CASBEE belongs to which of the following countries

Options :



1. % China

5 « Japan

3. & Singapore

4. x UAE

Question Number : 36 Question Id : 2839369916 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A Housing Finance Institution in the private sector is

Options :

1.« HDFC

2.« HUDCO

3. SBI

4. x PNB

Question Number : 37 Question Id : 2839369917 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Total quantity of light emitted from a point source of light per second 1s called



Options :

1.« Luminous flux

5 4 Luminous intensity

3. % Hluminance

4.  Lumen

Question Number : 38 Question Id : 2839369918 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The systems installed in building to make them comfortable, functionally efficient and

safe 1s called
Options :

1. ® AC

5 4 Noise protection

3. & Mechanical Services

4. Building Services

Question Number : 39 Question Id : 2839369919 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Combination system consists of supply and system

Options:

1. % Plenum

2 4 Air Conditioning

3. + Exhaust

4. 3 Natural

Question Number : 40 Question Id : 2839369920 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The full form of BOD is

Options :

1 % Biodegradable oxygen demand

5 4 Biological oxygen demand

3. v Biochemical oxygen demand

4. » Bandwidth on demand

Question Number : 41 Question Id : 2839369921 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following practise 1s applied in sustainable planning?
Options :

1. s Energy Audits

25« Site appraisals

3 Waste management plan

4w Water management plan

Question Number : 42 Question Id : 2839369922 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The slope of a ramp should not be more than

Options :

1. % 1in 35
2. % 11in 20
3.¢11n12
4. % 11n10

Question Number : 43 Question Id : 2839369923 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
When exposed to fire, concrete has very little strength left after

Options :

1. % 500 Celsius

2. % 300 Celsius

3. % 200 Celsius

4.+ 600 Celsius

Question Number : 44 Question Id : 2839369924 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Green building considers environmental, social and impacts of a building
Options:

=l n‘
1w Technological

2.+ Economic

3. % Political

4. % Cultural



Question Number : 45 Question Id : 2839369925 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

gas hampers oxygen from reaching the brain

Options :

1. % Carbon dioxide

2.+« Carbon monoxide

3. WNitrogen Peroxide

4. Hydrogen

Question Number : 46 Question Id : 2839369926 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is housing sector development scheme?
Options :

1. » HRIDAY

>« AMRUT

3.+ PMAY



Question Number : 47 Question Id : 2839369927 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HFI stands for

Options :

1« Housing Finance Institute

> 4 Housing Factor Index

3 5 Housing Financed Individual

4. s Housing Finance Index

Question Number : 48 Question Id : 2839369928 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
NUHHP stands for
Options :

1 s National United Housing & Habitat Policy
5 s National Urban Habitat & House Policy

3. 5 National Upgraded Housing & Habitat Policy

4. v National Urban Housing & Habitat Policy



Question Number : 49 Question Id : 2839369929 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a form of informal housing?

Options :

1.« Squatter

2 5 Apartments

3. Group Housing

4. 5 Corporate Housing

Question Number : 50 Question Id : 2839369930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which economic section in India has the maximum shortage in housing sector
Options :

1« HIG

3.« LIG

4. x EWS



Question Number : 51 Question Id : 2839369931 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The term describes an array of techniques and procedures used in investigating ground
condition either in response to a defect or new development

Options :

1. % Plenum

2. % Phototechnics

3.« Geotechnics

4 5 Cototechniques

Question Number : 52 Question Id : 2839369932 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A Landscape characterized by sink holes and vanishing reappearing streams 1s called
Options:

1 % Grading Plane

2 % Gardstic

3. & varstic

4. + Karstic



Question Number : 53 Question Id : 2839369933 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The garden city concept was introduced by

Options :

1. + Ebenezer Howard

5 4 Raymond Stien

3. % Radbun

4. Frank Lloyd Wright

Question Number : 54 Question Id : 2839369934 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which 1s not an important principle of landscaping

Options :

1« Rhythm

2. % Balance

3. & Form



, Harmony

Question Number : 55 Question Id : 2839369935 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the correct order for Planned Housing
Options :

1 s People, Land, House, Services

5 4 Land, People, House, Services

3.« Land, Services, House, People

4 5 Service, Land, People, House

Question Number : 56 Question Id : 2839369936 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process of growing plants in partial light is called

Options :

1.+ Etiolation

2. 2 De-Etiolation

3. Phototropism



4. 5 Photosynthesis

Question Number : 57 Question Id : 2839369937 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What is the uniqueness ot Affordable Housing in Partnership (AHP)

Options:

1 » Rental Housing

2. % In-situ slum rehabilitation

3« Compensatory FAR

4. 4 Credit Linkage for subsidy

Question Number : 58 Question Id : 2839369938 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Modem CAD systems are based on

Options:

1.« ICG

2. % GCI



3. ¢ GIF

4. x IFG

Question Number : 59 Question Id : 2839369939 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Auto CAD drawing using absolute co-ordinates, the number of points needed to
draw a line is

Options :

1.2 0

Question Number : 60 Question Id : 2839369940 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Auto CAD was first introduced in the year

Options:

1 % 1980



2.« 1982

3. % 1990

4. & 1995

Question Number : 61 Question Id : 2839369941 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A type of geometric model of a three-dimensional object in which the basic shape 1s
made up of points or vertices connected by edges 1s

Options :

1. % Maps

2. % NTSC

3. « SMPTE

4.+ MESH

Question Number : 62 Question Id : 2839369942 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A single point in a graphic image is
Options :

1.



« Faces

2.« Pixel

3 5 Edge

. ="

4 % Spline

Question Number : 63 Question Id : 2839369943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A complete set of instructions which enables the computer to obtain the solution to a
problem 1s

Options :

1. » Hardware

5 4 Program

3. & Software

4. Compiler

Question Number : 64 Question Id : 2839369944 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In Auto CAD the command CTRL + Q 1s used for
Options :

1 Plot dialog box

2.« Exit

3, Object

4 5 Opendrawing

Question Number : 65 Question Id : 2839369945 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An arbitrary point in space is used as

Options :
1. % Grid
5 4 Spline

3, Object

4. Origin

Question Number : 66 Question Id : 2839369946 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
In Aquatic Ecosystem, the limiting factor for productivity is

Options:

2. % Soil

5 Light

4.  Water
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Which power plant works on the basis of gravity of earth
Options :

1. » Geothermal

2. % Wind farms

3« Hydro Power

4w Nuclear power
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:N.A Think Time : N.A Minimum Instruction Time : 0
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5™ June is celebrated as

Options:

1.« World Environment Day

5 4 Earth Day

3 & World Oceans Day

4. 5 International Day for Biodiversity

Question Number : 69 Question Id : 2839369949 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A natural unit that includes animals, plants and micro-organisms and their interaction
with abiotic components of the environment is called

Options:

1. Marine Ecosystem

5 4 Fresh Water Ecosystem

3« Forest Ecosystem

4. 5 Desert Ecosystem
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Restoration, Reclamation, Recovery of natural resources are examples of

method
Options :

1.« Abatement

2. % Aeration

3. & Aerosol

4. 5 Absorption
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A herbivore is also known as

Options :

1. » Producer

2.« First order consumer

3. % Second order consumer

4. % Third order consumer
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A slump test for concrete is carried out to determine
Options:

1. & Strength

2 4 Durability

5 » Workability

4. % Water content
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Which of the following is not a network technique of project management?
Options :

1.+ BAR chart

2. % PERT

3. & UNETICS
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In project planning a dummy activity s a type of operation in the Network which requires

Options :

1. & Time

2. % Resources

3.« Neither Time nor Resources

4. » Time & Resources
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What 1s the smallest entity of raster data used in GIS?
Options :

1.+ Line

2. & Point

3« Pixel

4. 5 Polygon
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Which of the following is not a component of plumbing water supply system

Options :
1.+ Washbasin

5 » Water supply and distribution pipes

3 » Valves

4. 4 Storage Tanks
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Which of the following 1s a non-combustible building material with low co-efficient of
expansion?

Options :

1. = Glass

2« Asbestos Cement

3. % Brick



4. % Sand Stone

Question Number : 78 Question Id : 2839369958 Question Type : MCQ Option Shuffling : Yes
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The multistage process by which rock is extracted from ground and crushed to produce
aggregate 1s called

Options:

| » Quarrying

5 4 Weathering

3 Cladding

4. 5 Qrouting
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If fineness modulus of sand 1s 3.2, it 1s graded as

Options:

1. % Fine Sand

2. % Medium Sand



« Coarse Sand

4 s Very Fine Sand
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The term used to denote the development of a network of minor cracks on the pavement
slab is called

Options:

1 Breaking

2 Seepage

3. 4 Leakage

4. Crazing
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Maximum permissible wear in stone for building work 1s
Options :

1w 1%



3.+ 3%

4. % 5%
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Which of the following structural loads are not applied commonly to a building

Options :

1. = Wind Load

2. % Live Load

3. % Dead Load

4. + Rain Load

Question Number : 83 Question Id : 2839369963 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[n the context of urban transport, bottle necks refer to

Options:

1« A portion of road with lowest capacity along the route



5 & Anunregulated traffic junction

3. 4 A road with excessively high traffic

4. 5 A road with railway crossing
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Settlements with dispersed pattern of development are generally found in

Options :

1« Hilly regions

2. % Fertile Plains

3. 5 Along major roads

4 5 Along the rivers
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Which of the following constitutes a component under physical infrastructure?

Options :



1w Community health Centre

2. % Bank

3.« Power supply

4. 4 Elementary school

Question Number : 86 Question Id : 2839369966 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a given city as the trip length increases, the frequency of trip

Options :

1. « Decreases

2. % Increases

3. & Remains Constant

4 5 Not predictable
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NITI Aayog was formed in the year



Options :

1. 2015

2 % 2020

3 % 2016

4, % 2018
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Which of the following is not a feature of the Indian Planning?
Options :

1 Development planning

5 & Indicative Planning

3. & Democratic Planning

4. v Centralized Planning
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The dome of the Florence cathedral was designed by
Options :

1 & Giuliano da Sangallo

2. % Leon Batista Alberti

3.« Filipo Brunelleschi

4 Glacomo da Vignola
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The Father of Indian Planning is

Options :

1.« M.Vishveshshwariah

2. % B.R Ambedkar

3. & Jawaharlal Nehru

4. » Mahatma Gandhi
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73" and 74" constitutional amendments give recognition and protection to

Options :

1. % Central Government

2.« Local Government

3. & Private Administration

4. 3 Both Central & Local Government
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In 1992 which Constitutional Amendment Act was passed?
Options:
1.+ 734
2. % 74"

3 % 69th

4, % 'mth
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Which of the following building 1s not designed by Frank Gehry

Options :

1.« Hearst Tower

5 4 Dancing House

3. 5 Guggenheim Museum

4 5 Walt Disney Concert Hall
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The UN world commission on environment and development is also known as

Options :

1. & The Hoover Commission

2.« The Brunt Commission

3. & The Green Commission

4 T'he Hope Commission
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Simple arrangement of adapted spaces or types of land uses that might exist in an urban

area are called

Options:

1. % Urban area

2. % Urban Form

3. « Urban structure

4. 5 Urban Agglomeration
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Population of Mega City

Options :
1.+ = 10 million

2. % = 20 million

o i
3 g - | million

4. % =4 million
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"UNESCO’ stands for

Options :

1 & United Nations Energy, Science and Civilization Organization

5 & United Nationals Educational, Scientific Civilization Organization

3. & Union Nations Energy, Science and Civilization Organization

4. United Nations Educational, Scientific and Cultural Organization
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The scheduling technique of construction management, in which the whole project 1s
divided into major groups and subdivided into tasks and sub tasks, 1s known as
Options :

1.« Work Break Down

2. » Mile stone chart

3. % Line of Balance

4. % Gantt Chart
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Refurbishing or Replacement of old buildings and new use of previously development
land n urban areas 1s called

Options :

1 & Urban Planning

5> « Urban Recycling

3. % Urbanism

4. 5 Urban Design
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The composite materials are

Options :

1 Isotropic

5> « Orthotropic

3. Anisotropic



4. 5 Homogeneous
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To provide a pattern of land use throughout the country of Great Britain by means of
development plans drawn up by local planning authorities and approved by the
ministry of housing and local government was the main feature of

Options :

1 & The Sanitary & Public health Act of Great Britain (1840)

> s Town Planning and Housing Act (1909)

3. » Ribbon Development Restriction Act (1935)

4. Town and Country Planning Act (1947)
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The improvement trusts for various town and cities in India has concentrated on

Options :

1+ Development of vacant lands on the fringe cities

5 & Iraffic safety to the inhabitants



3. & Neighbourhood concept Planning

4. 4 Site Planning Principles
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In which year, were the Ajanta Caves added to the list of UNESCO World Heritage
Sites?

Options :

1« 1980

3 « 1983

4., w 1996
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The standard for recreational open spaces should not be less than
Options :

1 3 acres per 1000 population



5> « 4 acres per 1000 population

3 & 3 acres per 1000 population

4 5 2.5 acres per 1000 population
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In preparing a development plan the planner requires

Options :

1. & Occupancy rate

2.« Social & Economic structure

3. 4 Floor space Index

4. % Road widths

Question Number : 106 Question Id : 2839369986 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Housing has not kept pace with the demand created by urbanization because of

Options :

1w Non-availability of building materials



5> & Rigid municipal rules and regulations

3.« Rent Restriction Act

4. 5 Shortage of land
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Targeting of subsidies to the poorer sections was a salient feature of

Options:

1. % Second five-year plan

> & Third five-year plan

3. v August 1957, housing policy scheme

4. s Fourth five-year plan
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As per Rural Housing standards the gross density taken in planning a village 1s

Options :



1 30 to 38 houses per hectare

5 « 28 to 38 houses per hectare

3. 5 28 to 35 houses per hectare

4 5 32 to 40 houses per hectare
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A tenant from a slum area cannot be asked to vacate his abode unless

Options :

1.« He 1s offered alternative accommodation at a rent which he can afford

5> & He is paid money equivalent to the cost of his abode

3. 4 He is given a new house

4 5 He1s given land and loan for a new house
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The cost of a dwelling unit can be reduced effectively by



Options :

1. = Location of site

2. + Construction methods

3 4 Topography of the site

4. » Design of the Dwellings
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In which of these countries we can see largely the adaptation of Panel Wall
construction technique in housing construction

Options :
1. % Sri Lanka

2. % Thailand

3. % India

4. + Russia
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The cluster concept in housing by and large development is
Options:

1 Highrise low density development

5 « Low rise high density development

3 & High rise high density development

4. Low rise low density development
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In a two-dimensional work with asymmetrical balance, the appearance of the balance
1s achieved by

Options:

1 & The use of ideal proportions

5> « Distributing visual weight accordingly

3. 5 Both the use of ideal proportions & distributing visual weight accordingly

4. % Cannot be achieved
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A theory in urban design derived from lines connecting one element to another is

Options :

1. & Figure —grounded theory

2w Place theory

3.« Linkage theory

4. 5 Affordances theory
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Which of these surveys is not required in Landscape planning?

Options :

1. % Natural Factors

2.« Cultural Factors

3 5 Visual Quality

4. % Social Factors
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The Focal point in an urban composition, whether it 1s a building or a space should be
Options :

1 & Atthe top of the group

> & Tlowards the left side of the group

3 lowards the right side of the group

4. Near the middle of the group
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Which is not a method of planting

Options :

1 » Transplanting

5 4 Layering

3.« Transforming

4 5 GOrafting
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The unit for measuring sound absorption in a room is

Options:

1. » Phon

2.« Sabin

3. & Decibel

4. % Hertz
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A PERT / CPM activity has an optimistic time estimate of 3 days, a most likely time

estimate of 8 days and a permissible time estimate of 10 days. The expected time of
this activity 1s

Options :

1.+ 7.0

2. % 1.5

3 % 8.0
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Which type of fire protection is required for vapor explosion
Options :

1. Fire hydrant system

2> & Sprinkler system

3.« Water mist fire protection system

4. 4 Portable fire extinguisher



